b

0.7594238 - - -

_17

~1.23,

5

3.141592,




Al 7Y (—ab)? x a® + a®b & & 0, o] o]
IE AL

#4

—ab)? xa® = a®*b = a®b® x a® + a®b
( )
=a*b? = a%b

=ab

1
(—ab)? x a® + a®b = a®b* x a® x =5
a‘*b? ¢
a3b
=ab

1

EIES

;

(-ab)? x a® + a®b = a®b® x a* + a®b
— 2t2-ap2-1

=ab

® ©®
sk
i

Jdo
e
=}
ol



3. —202x-y-[  |+4)-dy=-2x—dy-8 Qo) [}
A& Tatel,

YEE
=%



4 a=g b= A Thg Aol g ool

a—[3a-{a-2b-(7a—-4b)}]

s
=¥



x+ay=9 _ _
g {7 o o7t (5.-2) A o ab 9 & Pt
bx+3y=19

™9

e

D =10 ® 10 B3 -8 @ 8 B -6



ol
atof
A=
— 3501 ]]11
3= -40 ©

®
® A%
@ A45

2 A8
8510] Lt
g

® L
A8



7. (a®b- a) a—-2(ab® + 6b*) + b 5 7rHs] S W], ab o] AFE x,
a ) ATEyt & o, 3x -y 9 F= Fstoi=t

SR
=%



(1, 2) 7F a7t =R e A2

@ 3x+2y="7

@ —x+Ty=13 ® 2x—4y = -6
@ 4x+2y=6 ® —2x+5y =8



3x—4dy=x+5

? (g 27H)

5
2

® x=2y+

@ x=2y+5
1 )
@ y—§x—1

2
5

O x=2y+

@ y=2x-5



10. 41 Qo] ofe#|2] ol ok5 ] thole] 9 Hlgich., @A) obHAe]
ol 7} ob5 o] thole] 5 Wi u), @A) ob#iA] o] Lholi=?

@D 36A @ 37A 3 38A @ 39A G 40A)



i
™
o
e
)
%

33
18

27
2X3 %5



o
rd
IR
>,
N
rir

N

7 .
12. 254 7o <*< 1.9 d4 x o] A=Y

@D o7 @ 174 3 274 @ 374 3 470



1 1
“x+-y-1=09
a 4

® 9




14. x = 2= (as 100 ©15He] A1) & v, 27k H47F okl fgkasrt

a9 gte] A5E Fatolel.

YR
-



: 2

StE x @y o ge] HI7b 1

29

T
o, A= a o] 4t

OE]

@ 3 B 4

1



